= o
N & o & AF & H Al A
20168 & =04 LBHSIH s€II=dH XNJAJNEL ~ sPllsdlH TAlsg2
FA: sgllsdH XNI= D
=R ESD EIE
o sEXNTIIEY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=gJ|l=4dH XJAIJE D 4,358,318 4,642,876 A 284,558
=2 93,170
Xl 100,000
< 92,871
Al 4,072,277
SYX2I= 3,205,818 3,617,227 A 411,409
= 93,170
Xl 100,000
< 92,871
Al 2,919,777
sEXNEoexy 682,429 568,971 113,458
FAN2E dFYR=2 674,429 563,771 110,658
101 @124l 23,359 20,544 2,815
04 J12ZtHZ22 s+ 23,359 20,544 2,815
OFAIR R 22 2
48,2803 * 2% * 52 * 103 4,828
O=sYll=dHE 292X
48,2803 * 1Y * 262 » 12& 15,064
OSYINSUHE 2YRE SN
44,6409 « 18 * 262 * 18 1,161
OJIZtH 22X BEHEZ (ML RES) 1,606
CHZBEE 15,064,000& * 3.035% 458
OWIAEEE 458,000& = 6.55% 30
O30z 15,064,0002 * 4.5% 678
CnE:LH 15,064,000& * 1.5% 226
Ot Ed 15,064,000& * 1.42% 214
OHEF Y| 200,000& = 1H « 23| 400
O=X=ZEAE 300,000& = 1H = 13l 300
201 LBr2EH| 520,070 470,427 49,643
01 At 2t 2l 150,096 105, 381 44,715
O=sEXNEZANLE SEME
400& = 2& * 5,00004 4,000
o=z Ht dE =2
20,0003 = 6CH » 123 1,440
OXZEJI&Y F)| dEY =2
50,000& = 1CH » 12& 600
OFAI2Y HAZeE 272
50,000& = 108 ~ 12& 6,000
O A7 2,820
OZ2tX 11,000& = 58 » 2014 « 123 1,320
ONdEEA 100,000& * 153 1,500
020158 sZEXNEMY BIIEDN |2
20,0002 *» 2002 4,000
020169 sEXNEAMY Jl2HE Xz 7ol
8,000& * 2008 1,600
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AN sEIIsdE X200

B SN
o sEXNTIIEY (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Osgllsdy d2R=2 25,356
Os¢X 15,0003 * 2& *» 128 360
OXNYX(2a, s, SITAXNAEZ2L)
13,000& = 3104 » 12& 4,836
Osgdss FEX
7,000& * 38 * 808 ~ 123 20,160
OFAMEIIIM2E BEOH (22 L s4&) 14
62kw 1,300,000& * 12&8 15,600
OSIINYL 22 U TEB2A HIAWBL
Z 9| 150,000& = 7oA + 128 12,600
Ot LML I3
200,000&  30H 4 600
OFHAL 22AE A2 X (22, s4H)
250,000& * 20 A  12& 6,000
OsJIAHYHEZ & Sl 2BAE |X
2el 849 150,000& = 7oA + 128 12,600
O2aHMelAld RRe E4(22, s42)
600,000 » 12& 7,200
OdelHolH ¢ERI AL ES (2, s,
ZE) 230,000& * 3M A » 128 8,280
OFA &gAze 29
200,000& * 4 » 128 9,600
0SB AL (22 U S4B
500,000& = 12& 6,000
ORI ZH EQH(SIAHLUEZAIA)
250,000& * 70 » 12& 21,000
oY E CCTV SA&2 S99l
50,000& * 84 * 12& 4,800
02 3323l 369,974 365,046 4,928
oOFILB(1Y) 119,910
o222 2 =4 2(900kw) 114,972
-JERS 8,320& = 300kw » 12& 29,952
L = 109& = 65,000kw * 128 85,020
O& S Al & I Z(50kw)
8,230& = 50kw » 12& 4,938
OFstx HA 2z (228, s4H)
450,000& * 204 * 13l 900
OFSE Ha 2HE(SIHLUHEZAE)
60,000& * 604 * 13l 360
O&EAN 283 EA 600,0008 * 14 * 23] 1,200
osgdMERES 2,784
OXt= Xt 58,0003 * 2400 = 23| 2,784
osd & 3,927
Osl&Es AtEZ 60,000& » 12& 720
OgudEs AAE= 50,000& = 20# = 12& 1,200
ORdgEsz (gL, MRY, SIAXNGE
=A) 8,800 * 19004 + 12& 2,007
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AN sEIIsdE X200

Bu: sox el
o sEXNTIIEY
SA BB O () - MM - HES 0l &+ o4 il
(OFES- el FSh=Neila] 48,0003 = 3M 2 = 13 144
Oddt+E a3 (2H, s, sAHsSIISHH
) ,600,000& * 128 19,200
O4GI+ERB(NIsIIAHSTE2LL)
500,000& * 6 2 3,000
OdJ| HEEH =22 150,000& * 3JH 4 450
OdelHIOIH &N B2
150,000& » 3JH A& 450
O&EAMAIE Sl 21,704
Oos&(1040lat) 2,280& = 3,807m 8,680
Osa2&(540l0th) 1,222& = 5,579m 6,818
OXNY=sJIHEE 22l A (54016
1,222 = 600m » 50 A& 3,666
O2&Es=IHSEs 2l (54018t)
1,222 = 328m » 10H A 401
OsdilMs Al (54016t
1,222@ = 1,750m" = 1JH 2 2,139
O=sgllasdyd 29 el 32,300
OsJIAsSE2eD
1,305%@ » 34 * BAlZE » 6OHA + 110 12,920
OStsgoaga
1,305 » 34 * BAIZE » QJHA » 110 19,380
OXNSXUHHAMSUS(MS+tEEZ) 18,700
OstE242¥ 950,000& =« 4CH 3,800
Os&8xt 900,000& =« 3CH 2,700
Os&Ext 600,000& * 3CH 1,800
(OF =3I 700,000& =« 8CH 5,600
OUEst=2 800,000& =« 5CH 4,000
OALgHA 800,000& = 1CH 800
OXt& =Xl 116,447
OsEX 4,908,000& * 7CH 34,356
Osgxt 6,551,000 * 4CH 26,204
OstExt 4,299,000 = 130K 55,887
CuLsSRY RE3 500,000& * 23| 1,000
OXSxE A= 60,0002 = 24CH 1,440
OHAMALE (28, SAZ, CASAD)
5,000,000& = 30 A& 15,000
OXJAZHEIAL HUAZ 22 HIIRS
600,000& = 12& 7,200
ORHERS 3,858
Ooget 270 = 10,0000H 2,700
OS2l 1,930& * 600 1,158
203 22 E X g 5,000 5,000
03 Al =X A2 =X 5,000 5,000
O=sgll=s N2 FA 5,000,000& 5,000
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AN sEIIsdE X200

HM: =HXSIE
el SEXCIIBEY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
206 M = Hl 3,000 3,000 0
01 T2l 3,000 3,000 0
OFEJ& I3 M2 100,000 = 30= 3,000
307 gizto| A 90,000 64,800 25,200
05 QIZtRES 90,000 64,800 25,200
02 U S4B A Y
7,500,000& = 12€ 90,000
401 AlEHIZL £ 0HY| 33,000 0 33,000
01 Al& gl 33,000 0 33,000
OZA sSIHHUWEZAIE ACrHEH &EXZ2A
6,500,000 * 2002 13,000
Od M2 =0 MEA AX
0,000,000& = 1JH A 20,000
SHolASEGA 2H 8,000 5,200 2,800
201 LBt ]| 2,400 2,400 0
01 AP 22| H| 2,400 2,400 0
Osgolaads 29
100,000 = 204 = 12&€ 2,400
301 LBt A= 5,600 2,800 2,800
09 HAIAHI EAZ 5,600 2,800 2,800
OsgolagdA2y SASA
7,000 * 200 * 400 SHS 5,600
NEINEZHH2G 20,020 10,000 10,020
I8 HHYHAR2 = 20,020 0 20,020
201 et d| 16,500 0 16,500
01 A2t 2| H| 16,500 0 16,500
OEI=PIES EY SIA MH
9,000,000& = 1A 9,000
Os&=XN%= EEE St 7Y
15,000& * 5004 7,500
202 044l 3,520 0 3,520
01 2L Y| 3,520 0 3,520
NEPER" =z
20,000 = 11 * 16Y 3,520
SR=1p] R =Tgec PN ==l o 399,370 448,800 AN49,430
=MI)|=NR 76,650 76,500 150
201 2Et24A Y| 38,150 38,000 150
01 AP 22| d| 38,150 38,000 150
O=MI|% NRgERY
500,000 * 14l 500
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AN sEIIsdE X200
g sgXEI=
=R RSl |= RS R el

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
04 DIZFSHALAIRI 2 = 20,000 0 20,000
O=s=X&X 8303 Ha &It XA
20,000,000& =« 13l 20,000
sEXNEXN EUs Nz X& 20,000 140,000 A 120,000
307 glz2tol & 20,000 140,000 A 120,000
04 DIZFSHAIAIR 2 = 20,000 140,000 120,000
O=s=X&X SUsl Mzl &It K&
20,000,000& = 13l 20,000
SEXNEX S0tSHal 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 BIZHH AT AL 2 X 15,000 15,000 0
Os=EXNZ A storsStHal K=
15,000,000& * 12l 15,000
IHEEXN T 76,000 51,000 25,000
301 et a =z 8,000 8,000 0
09 &AL HIZB &S 8,000 8,000 0
OXg4-Hu= & SALEIF 044
100,000& » 6Y 13 600
O4-H &8s =SA2Y 7,000& = 2009H 1,400
O4-HI® SRACH HEHDS HFABH
100,000& * 60H * 13l 6,000
307 gl2tol & 58,000 13,000 45,000
02 It HAHE L 58,000 13,000 45,000
Os&tw4-Hsl HMAZ K&
1,500,000& * 307H 1! 45,000
O4-HEF NMHZHEX Y& L SetE 8
13,000,000& * 12l 13,000
402 2I2H X201 M 10,000 0 10,000
01 B2t t= AP E £ 10,000 0 10,000
OZs4-HAIEE =X & 5,000,000 20 A 10,000
4-Hg| EAEAG A 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALALH 2 = 10,000 10,000 0
O4-Hal EAE & @At 10,000,000& * 13 10,000
4-H3| s EAE TUHAE OIE L= 30,000 20,000 10,000
307 glz2+ol & 30,000 20,000 10,000
04 QIZFHALAIH B = 30,000 20,000 10,000
O4-Hal sEAE USEAE OIS L=
30,000,000& * 13l 30,000
4-H3| HMZBEUE 7,250 10,000 AN2,750
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FA: sgllsdH XNI= D
=R ESD EIE
el sENAB MY (sl &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMEIE FHWE Xtg Xt
450,000& = 2404 10,800
OSETALOF AATAY HBXA (MBS
dl) 500,000& =« 4A 2,000
OJlsgdzs gHs |RUS 7*¢ 3,650
OAHLHEHLAZ] 50,000& = 314H 1,550
OS2 73 100,000 * 21H 2,100
206 M= Hl 44,185 35,500 8,685
01 =8l 44,185 35,500 8,685
OJIsgd73 us M
10,0003 * 756 * 43| 30,240
OEESAAIS WE M=
10,000& * 30 * 203l 6,000
OdH=42Y HIIF 2 7,945,0008 » 14 7,945
301 L2 Az 28,874 25,300 3,574
09 HALAHIEA S 28,874 25,300 3,574
OMEINLS HINIES HAX 24 B4
7,000& » 200 1,400
OMEINHS, AR FHWE HFAL =4 2
o 7,000&  8829H 6,174
OMEINHS TEe Haelfuns 4 24
30,000& = 70H 2,100
OIlsE DT BAT A 24
7,000& * 65 * 203 9,100
OEH? 2 W=s &4 ol
100,000& * 409 4,000
OMEINMSE UM XD HA B4
100,000& * 61 6,100
307 21201 A 45,000 65,000 220,000
02 ItFAAHEEX 45,000 45,000 0
OMEINS Jl=WH WS
1,250,000& * 203 = 1004 25,000
OMEINHs sotsSUHa
20,000,000& * 13 * 1JHA 20,000
402 RIZ2EXt20l ™ 35,000 50,000 A 15,000
01 QIZtt=2 AL B X 35,000 50,000 A 15,000
OsEXd 28 U= WS =4 MY
50,000,000& * 1JH2 = 70/100 35,000
405 RHoHE S HI 1,200 0 1,200
01 AL EFSFHSHI 1,200 0 1,200
ods4 &N ¢ 1,200,000& = 1CH 1,200
MENME &, 52 §0t8 U3 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000




SA: sYIEME NRIIHD
Ha: XA
ool SENRBYL S EERED

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OdENLs & 59 20rs (8l
10,000,000& = 23] = 1JH A 20,000
sZIIHZHH LS 1,163,532 1,171,176 AT,644
JIH &0 & et 1,018,532 1,171,176 A 152,644
101 @124l 172,280 147,722 24,558
04 JIZHHZ2XNSE+ 172,280 147,722 24,558
OsJIH L& 2e a2y 25,906
OJdles 48,2803 * 2% « 26¢ ~ 103 25,106
OFEFItHI 200,000& = 2H « 23| 800
OsJIAH Agnael 9FY 25,906
OoJlzs 48,2803 * 2% * 262 « 103 25,106
OZFEFItHI 200,000 = 29¥ « 23] 800
OZTgHelL H23 AU (SIXIL) 104,302
OJles 55,770& = 78 » 262 * 103 101,502
OF &5 tdl 200,000& = 7H =« 23| 2,800
(OFNR=PNES= = 16,166
OAHd=2E = 151,714,000& * 3.035% 4,605
OFIYEER 4,605,000& = 6.55% 302
O=0dz=z 151,714,000& * 4.5% 6,828
OnE:d 151,714,000& * 1.5% 2,276
O&MEE 151,714,000& * 1.42% 2,155
201 242 Y| 254,031 290,954 36,923
01 At 22l 124,930 159,624 A 34,694
OLU=sIIAH Mg &S
70,0003 * 1Y « 43 3,080
OZU=sIIAH & SEg2els 29l
100,000& » 7004 « 12& 8,400
oUU=sIIH 2HELE 2ER MH
2,000& = 1,000% 2,000
OsJIH dUEH 2 AN (HEIIS)
150,000& * 6003l 90,000
OS2 SEHI(SIAHLU)2UII, HHIDI
7,000& * 198 * 30& « 13l 3,990
O&tATHHM Y HEBH & WE SS9
300,000& * 84 2,400
O=sJ/H «=cled I =4l 6,460
o= 90,000& = 199 « 23] 3,420
O¢otH 5t 60,0003 = 19H = 13 1,140
ogst=s 100,000& = 19 « 13| 1,900
O=J1H Sg&ela etie & 2HE AR 2,000
Odd (etMAIE)EX 2,000,0008 * 1004 2,000
OsJ1H 4t & =328 IAFL(AE2H) 6,600
OAmUe 308 10,0002 * 500& 5,000
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AN sEIIsdE X200

B SN
el sl LS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OdZEJI(UE) 200,000& =« 8CH 1,600
02 2324l 129,101 131,330 AN2,229
OYU=IIAH FNELHI(LEIIEB)
100,000& * 400CH 40,000
ool sIAH HMA L SEH HII= HMeldl
100,000& * 70& 7,000
oYl sJIH 2208 /X 224l
250,000& = 12& 3,000
OLU=sIIAH HAE AZHI 7,001
O gs= 1,513& = 2,0004 3,026
O&= 1,325& * 3,000£ 3,975
O sIIH &otxtE XAX H=H|
1,325& = 4004  9OH 4,770
oYUl sSIH 29 Sz
70,000& = 199H 1,330
Ol =JIH ¥ 22U3 HE =2 (=D
2 xH) 500,000& = 123 6,000
OLU=sIIH BEEER 200,000& = 300CH 60,000
206 M= Hl 65,000 180,000 A 115,000
01 =8l 65,000 180,000 A 115,000
O=JIH LHEHl =2l 65,000
>olE 23 50,000& = 1,200& 60,000
Oo=2gZMzs #< 10,0002 * 500& 5,000
307 21201 A 40,000 40,000 0
05 RIZt2IEt = 40,000 40,000 0
Os824I| 255 HS N
200,000& * 2004 40,000
401 AIEHI L 20 249,655 105,000 144,655
01 A& HI 249,655 105,000 144,655
ogUE sJIH RNE=H(HEINE)
1,000,000& = 100CH 100,000
OUW===0l A=K Jlgtx4H] 65,100
O&EX FHIZAtH| 16,700& * 3,000m 50,100
OXZEE B BAS(ES EAMBE, EX0
H) 5,000& = 3,000m 15,000
OsdZ F=XE =T AH(XIBHEGH) 32,500
OIMR2IIBAH(OFAZ) 25,0008 = 1,300 32,500
O=24a BEHI =8 Hg20l X
5,000,000& 5,000
OsIIH SE2elL(EA) AEIAHTIHA) 25,384
OL2ds B34 ZHSA
62,500 * 80m 5,000
OsJIH ==cl HHU A
2,912,000& = 700 A 20,384




- =
- S

LIol=dE XN

D sEXAINE

P EYIAB YT

SN HH-S(BN) - MBAY - B il HlnE2
oOdsd sIHSE 2L BIOE AIE0IA 21,671
O2 Z&J € UHEIS A&
180,590& * 120m 21,671
405 RHoHE S HI 237,566 397,500 A 159,934
01 et EFSFHSHI 237,566 397,500 A 159,934
oguE sJIH ¢ 195,766
O3 el (CHAI) 57,750,000&  2CH 115,500
OSSO0l (A, CI&)
25,850,000& = 1CH 25,850
O=5d x4l 4,658,000& 204 9,316
OEZ g3 1,650,000 * 4CH 6,600
OSH g3 3,850,000& * 10CH 38,500
O 2tel &l 39,800
OXAHX(ZM UME) 35,000,000& * 1CH 35,000
O0lsAal D] 800,000& = 1CH 800
O=2l& 377 (HolA2 38)
200,000 » 4& * 5& 4,000
OU==0l sIAHASE2dAx 31
1,000,000& * 2CH 2,000
SsZIIAH &=al=cl 145,000 0 145,000
206 M= Hl 135,000 0 135,000
01 =8l 135,000 0 135,000
O=sJIH =328 B357Y 125,000
SE2(F2II1222 6008)
50,000& = 2,400& 120,000
OR=2(22A 503F) 10,0008 * 500& 5,000
OsJIH =32 28z ¢ 10,000
OZd<2 58 20,000& * 500& 10,000
5 a2 S 10,000 0 10,000
NI P=2= 10,000 0 10,000
O=sJIAH &Y AL Hia3
2,500,000 = 43| 10,000
SEX S ALS &4 386,340 589,006 A 202,666
= 93,170
X 100,000
Al 193,170
sPEEE LY 102,740 76,606 26,134
= 51,370
Al 51,370
201 L2l 39,750 27,120 12,630
= 19,875
Al 19,875
01 At 22l 39,750 27,120 12,630




AR P
=R ESD EIE
el SEXES A (S5 &)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Osgustgsas 29 700,000& * 23] 1,400
= 700
Al 700
O3 HUIAE =EHI 800,000& = 13/ 800
- 400
Al 400
QI=EsIIsn=R 370,000& * 30 11,100
2 5,550
Al 5,550
OIEYSIEDE DY
10,000& * 1,400% 14,000
= 7,000
Al 7,000
OJlzgsIlang B4 ME
60,000& + 80K 480
= 240
Al 240
OIZYEIENE ARRE 7Y
620,000& = 1Al 620
- 310
Al 310
ONESYIN=nE TA=< 180,0008 » 79 1,260
= 630
Al 630
OXB=I)=u=s UMM
10,0003 * 450% 4,500
= 2,250
Al 2,250
O=sIzns UM
45,000 = 20H 90
= 45
Al 45
Osg3gdd2Ndgddd +=EH|
2,000,000& = 2¥H 4,000
= 2,000
Al 2,000
OEASUE =&l 500,000& * 3H 1,500
= 750
Al 750
202 o4 Hl 47,640 37,186 10,454
= 23,820
Al 23,820
01 SLHOHI 47,640 31,520 16,120
OBTLEUS 300,000& = 3H 900
= 450
Al 450
Osga3gdd2oudg2y 1,600,000& » 2Y 3,200
= 1,600
Al 1,600




2N

g0l
B SN
Sel sETESAYHN EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONCZed NeSENZES e
382,800& = 509H 19,140
= 9,570
Al 9,570
OFIINEEH(10E) 18,000,000& * 1H 18,000
= 9,000
Al 9,000
O=s=dsMdedst XA 500,000& = 12& 6,000
- 3,000
Al 3,000
O RPN = 400,000& = 1Y 400
= 200
Al 200
301 YerE A3 12,950 9,100 3,850
= 6,475
Al 6,475
09 HALAHIEA S 12,950 9,100 3,850
OJI=gsllgns 2424
7,000& = 1,400 9,800
= 4,900
Al 4,900
OXZ=dlzsLs 244 7,0008 * 4509 3,150
= 1,575
Al 1,575
307 gl2tol & 2,400 3,200 A 800
= 1,200
Al 1,200
02 It M AHE L 2,400 3,200 A 800
O=s&XN&EXN dHU=H 1,200,000 = 200 A 2,400
= 1,200
Al 1,200
=2 TH ol ol & 50,000 50,000 0
= 25,000
Al 25,000
402 RIZEX 20l A 50,000 0 50,000
= 25,000
Al 25,000
01 It =2 AL B X 50,000 0 50,000
OX=g SEg otdae A AlY
50,000,000 = 1004 50,000
= 25,000
Al 25,000
NASEXC A5 X @ 150,000 410,000 260,000
Xl 75,000
Al 75,000
307 glz2tol & 20,000 20,000 0
Xl 10,000




N s8II=
HE: Sl
& sSEUEAG S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,000
02 It M AMHEE 20,000 20,000 0
OsEAY 2012 B4
10,000,000& = 200 & 20,000
Xl 10,000
Al 10,000
402 RI2EX=20l A 130,000 130,000 0
Xl 65,000
Al 65,000
01 It 2 AL E X 130,000 130,000 0
Os=e AWM HMOIZH XN
50,000,000& * 1JH 2 50,000
Xl 25,000
Al 25,000
OSEAT F2012 |4
40,000,000& * 242 80,000
X 40,000
Al 40,000
sASE IS HE J=sEs 50,000 0 50,000
X 25,000
Al 25,000
402 RIZEX=20| M 50,000 0 50,000
Xl 25,000
Al 25,000
01 It 2 AL E X 50,000 0 50,000
OBESANAS(SIHNEY) AY
50,000,000& * 1JH 2 50,000
Xl 25,000
Al 25,000
SIH eHEWE ALY 33,600 52,400 A 18,800
2 16,800
Al 16,800
201 et 1,440 0 1,440
2 720
Al 720
01 At 22l 1,440 0 1,440
O0&s0 =I|HDS 222 L HHSED
2 29,500& * 404 1,180
=2 590
Al 590
O0A&=s sSIAHRSE 2AE
130,000& * 23l 260
=2 130
Al 130
206 = Hl 13,220 15,616 A 2,396
= 6,610
Al 6,610




AN sIIsdH XA
B SN
oHelr SEXEAYR (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 =8l 13,220 15,616 AN2,396
OW&E=sge sSIIH s M=
50,000& = 409H 2,000
= 1,000
Al 1,000
OsJIAHAAHO BN 33,000& * 340 11,220
= 5,610
Al 5,610
301 et a3z 2,940 784 2,156
= 1,470
Al 1,470
09 &AL HIZB &S 2,940 784 2,156
O0AEAO SIIH DS Al
7,000& * 409 « 23] 560
= 280
Al 280
OsJlHetEOIZ2nS Al 7,000& = 3409H 2,380
= 1,190
Al 1,190
405 XHoHF S HI 16,000 36,000 A 20,000
= 8,000
Al 8,000
01 AL EZFH S 16,000 36,000 A 20,000
O=80lAD| 16,000,000& * 1CH 16,000
= 8,000
Al 8,000
S| =X & &t 317,390 619,870 A 302,480
< 92,871
Al 224,519
SENCAY AN 211,310 199,090 12,220
< 61,047
Al 150,263
201 L2l 92,760 82,640 10,120
< 26,982
Al 65,778
01 At 22l 92,760 82,640 10,120
Ol sLAEX XIF  120,0008 * 930 & 11,160
< 3,348
Al 7,812
O=doti sgAEX NA(sYAUER)
40,000& = 1,4004H 56,000
< 16,800
Al 39,200
O=goti sEHEEX XA (4-HAR)
20,000& 3509 7,000
< 2,100
Al 4,900
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AN sEIIsdE X200

FM: sHXAI=
ool sedlsN e (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FEEEENIEEEEERSEES
2,000,000& = 2JHA * 70/100 2,800
= 840
Al 1,960
403 X SHHSA=0l& 40,000 44,000 A4,000
< 10,500
Al 29,500
02 SJ1 2SOl CHSH At 2 X CH & AF I 40,000 44,000 A 4,000
OdE=sgel ZNIINUE 29
2,500,000& * 20 * 80/100 40,000
< 10,500
Al 29,500
SENMsEG MIlsEs 76,080 40,680 35,400
< 22,824
Al 53,256
201 Yet2 | 49,780 27,460 22,320
= 14,934
Al 34,846
01 At 22l 49,780 27,460 22,320
O==04 HPMS 7=2 X
40,0003 = 927YH 37,080
< 11,124
Al 25,956
Osttg AHIEISMAME NS 2 AL (Y
81332 ) 180,000& * 202/ 3,600
< 1,080
Al 2,520
OsStESAHFSISMAME W] =9 WA
50,0002 * 40K 200
< 60
Al 140
OSMSAHSASMAMSDS DUYHE L
- 10,000& * 600 6,000
= 1,800
Al 4,200
O=sZEUZS0E MEXg X 2A=g (et
3=) 180,000& * 103l 1,800
< 540
Al 1,260
OsSEU20YE M8 X uUs 89
X & 50,000 * 20K 100
= 30
Al 70
OsSZEUISE M3 X us Ui +
2 10,000& * 1008 1,000
< 300
Al 700
206 M= Hl 11,000 8,600 2,400
S 3,300




2N

sol=dg X212

HM: =HXSIE
S ENSPIFS EEY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 7,700
01 X2 H| 11,000 8,600 2,400
Os=U2s0d MEAS X A5 Hal
50,000& = 10 * 103 5,000
& 1,500
Al 3,500
OsMNZAHFSAsMHAMES NS S H|
10,0008 » 600H 6,000
& 1,800
Al 4,200
301 et A= 15,300 4,620 10,680
& 4,590
Al 10,710
06 212t01 = 2| (4 HI 9,000 0 9,000
OsZ=HAHEXNEX HAHZL 1,800,0008 = 5H 9,000
o= 2,700
Al 6,300
09 HAIAHI EAZ 6,300 4,620 1,680
OSECRS0IE MENS MY DS SAY|
7,000& = 304 * 108 2,100
= 630
Al 1,470
OSMSAHSA=MAMS DS DAY
7,000& * 600 4,200
= 1,260
Al 2,940
MII=E2ESAIE SH4t 30,000 30,000 0
o= 9,000
Al 21,000
206 M = Hl 30,000 30,000 0
= 9,000
Al 21,000
01 =4l 30,000 30,000 0
OsJ|H =342 e XN Ha
300,0008 * 100 30,000
= 9,000
Al 21,000
A 2H A 1,152,500 995,649 156,851
oA 2 A AH| 1,152,500 995,649 156,851
oled A | 1,076,070 930,475 145,595
101 2121 ] 1,076,070 930,475 145,595
01 2= 241,546 232,535 9,011
OAZte 22Y
9,332& * 63 * 30AI2F x 128 211,650
OHYUAT FL2242(6Y)
83,043& x 6YH » 60Y 29,896




AN sEIIsdE X200
S

M HH2AA
el ol 2y (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 JIEH A 2+ 2,875 2,758 117
ONZT24 (AL E)
7,984 = 1 « 30AI2t = 128 2,875
03 RIAHAZZ A2 831,649 695, 182 136,467
OsJIA=cl,s& A2 ELZE U=
& 757,367
Oog= 429,086
-Jt= 138Xt 25,669,000& * 14H 359,366
-Lt= 138Xt 23,740,000& * 29H 47,480
-O=2 138 Xt 22,240,000& * 1H 22,240
O=% 155,406
-tE=g 10,560
- S X 40,000 * 9 = 12& 4,320
JIEFILS 20,0003 * 26%H = 12& 6,240
—AEZZ22E(0I3)
9,100& = 30AIZt » 14H « 128 45,864
—AEZE2LE(L3)
8,950& * 30AlZt » 28 « 12& 6,444
—AEZZ2a(03)
8,800 * 30AI2F » 1H * 123 3,168
54224 (0132)
9,100& = 14Y « BAIZt * 50 50,960
~EYU2R(UB)
8,950% * 28 * 8AlI2H » 502 7,160
-FoUI2g(03)
8,800& = 1& + BAlZt * 50 3,520
—AX =2 (0t=) 83,0009 * 14% x 20Y 23,240
“Axt=2(U3) 76,8703 * 294 x 20 3,075
—H =2 (0U3) 70,7403 * 1F » 20 1,415
OZFEFItHI 43,028
-Jta2 1,283,450 * 14F » 23| 35,937
-Li= 1,207,170& = 2% « 23| 4,829
-Ct= 1,130,900& » 1H * 23] 2,262
O= &l 130,000& = 17 » 128 26,520
[@ImE=}:]! 130,000& » 17 » 128 26,520
OJHAIXI & HI 33,780
-2 175,000 » 14% » 128 29,400
L= 125,000& = 2H » 12& 3,000
-t= 115,000& » 198 = 128 1,380
o224 43,027
=1 213,900& = 1494 = 12& 35,936
-u= 201,190& * 2% » 12& 4,829
-tz 188,480& * 1H = 12& 2,262
OXNXHNEES 74,282




2N
X ZH -
L= B

el

@IS ME KRS
=ERET
CEEET

HE - B (3H) - KISAY - BYS il HImEET
OHLEE= 710,447 ,000& * 3.035% 21,563
O¥JIIRYEE= 21,5633 = 6.55% 2
O=8d3 710,447 ,000& = 4.5% 31,971
(ONE=J--0= 710,447 ,000& * 1.5% 10,657
OdTHEH 710,447 ,000& * 1.42% 10,089
|22 76,430 65, 174 11,256
201 Let24] 34,570 31,634 2,936
01 At 2t 2l 34,570 31,634 2,936
oJll2ge=8 g2 (II&Z4l)
10,000, 000& 10,000
O=ZHI(J1E&HI) 10,080,000& 10,080
O Al 60,000& = 118 7,080
O==Hl(THEH) 30,000& = 247 7,410
202 044l 33,480 24,240 9,240
01 ZLHOd tl 11,880 19,440 AT7,560
OJIEZ 11,880,000& 11,880
02 M0 21,600 4,800 16,800
(OF=ELC ] 200,000& = 7¥ = 128 16,800
Osgolags 2R FAHNH
200,000& = 2% = 12& 4,800
203 YR =&l 8,380 8,300 80
01 )22 =4 3,300 3,300 0
OJIEH(45) 3,300,000 3,300
02 33 H 2= 880 800 80
QI&= XA 40,0003 = 229 880
04 FN2ELRZ=TH| 4,200 4,200 0
©J| & (302!0l5t) 350,000& = 12& 4,200
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N = 0 & AF S 99 N A
20168 = 20l A LB H sIl=dE XNIIEY ~ sgI=dE SAsg2
A sgIIsdH Jl=220
=R RSP
e MII=Es (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Ssgl|l=s=HdH Jl=E22 3,197,184 4,428,023 N 1,230,839
= 579,770
Xl 200,000
= 155,937
Al 2,261,477
seIl=Es 3,131,221 4,118,131 A 986,910
2 579,770
Xl 200,000
& 155,937
Al 2,195,514
NPIES=] 1,554,820 2,093,700 A 538,880
= 579,770
Xl 200,000
Al 775,050
MIl=EB a3 A Y 1,020,000 1,820,000 A 800,000
= 510,000
Al 510,000
307 212t0| & 10,000 29,000 A 19,000
= 5,000
Al 5,000
02 I2tH AALH E X 10,000 29,000 A 19,000
OXM H)|+ES 98 B 2USH 25 22
10,000,000& * 1JH A 10,000
= 5,000
Al 5,000
402 QI2v X2 0| & 1,010,000 1,791,000 A781,000
= 505,000
Al 505,000
01 CIZtXI2AIE E X 1,010,000 1,791,000 A 781,000
ONEZL & MAS & IUel™d M= Al
= 20,000,000& * 1JH A 20,000
= 10,000
Al 10,000
O=8Y AFAIH HH 24Y MACHX] AEY
100,000,000 = 1JH 2 100,000
= 50,000
Al 50,000
OZ2 = Mul 24t ==2&83 Mool A"
100,000,000& * 1JH A 100,000
= 50,000
Al 50,000
OF4 HI|4x&3 s h 2UHEHE B B2
290,000,000& = 10 A 290,000
= 145,000
Al 145,000
O HEY3IIEHE L HXJl= 0|8 &=
A AIEY 50,000,000& * 1= 50,000
= 25,000
Al 25,000




SA: SIS D22

T . A
M sgllsE=

e MII=Es (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Ol HA5d 220= 0822 MY
40,000,000& = 10 A 40,000
= 20,000
Al 20,000
OANEMA &2 A= MHHIDI=E22 MY
30,000,000& * 102 30,000
= 15,000
Al 15,000
OADIEY S& A8IZ HUZS MY
50,000,000& * 102 50,000
= 25,000
Al 25,000
OBHSE J0 L BIANAY WA
80,000,000& * 1JHA 80,000
= 40,000
Al 40,000
OEXEZS F4HX A JIE2R 012 Jl=Ea2
60,000,000& * 1002 60,000
= 30,000
Al 30,000
OFAEIQA AIETHHE DIz AlY
140,000,000& * 10 A 140,000
= 70,000
Al 70,000
oA Lel &stE S22l AlY
50,000,000& * 102 50,000
= 25,000
Al 25,000
Wstd=s EHII =X 10,000 8,500 1,500
= 5,000
Al 5,000
101 2121 d| 10,000 8,500 1,500
= 5,000
Al 5,000
04 JIZtHIZ22NSE S 10,000 8,500 1,500
O FEtAFA2L A 2 JI2HMZEX o2
(4t s 10,000,000 = 1Y 10,000
= 5,000
Al 5,000
S&= Hols ol & 2 Arg 35,100 21,400 13,700
= 17,550
Al 17,550
101 2124 d| 13,500 13,840 A 340
= 6.750
Al 6,750
04 JIZtHI22XNSE S 13,500 13,840 A 340
OHolE M&EZ XA 2 2 (4HEEH,
HAESIIY| L&) 13,500,000 = 1Y 13,500
= 6,750
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SA: SIS D22

M =022
S MII=E=2 (&)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
Al 6,750
2Bt A | 1,400 A 360
= 700
Al 700
AFS 22l 1,400 A 360
Ogdis ZEE Ada 29 EZ MH
100,000& * 38 300
= 150
Al 150
OHHE BHT 2 BT
50,000& * 228 1,100
= 550
Al 550
M= dl 1,000 700
= 500
Al 500
M=l 1,000 700
OHME BT AT 2% W2
20,000& * 508 1,000
= 500
Al 500
LetE A= 5,500 0
= 2,750
Al 2,750
JIEtE A= 5,500 5,500
OHHE BEE 2 MYl 243
250,000& = 229H 5,500
= 2,750
Al 2,750
gIztol 13,700 13,700
2 6,850
Al 6,850
QIZFE A A E X 13,700 13,700
Osxs dails 2 13,700,000& = 1JH A 13,700
2 6,850
Al 6,850
sJtEY e XA 73,000 A 10,800
2 36,500
Al 36,500
101 124l 5,000 A5,768
= 2,500
Al 2,500
04 JI2ZtHZ22HEE = 5,000 A5,768
OLZAsSEANY JIAHM22NSL RS (4UE
ELE) 5,000,000& = 1H 5,000
= 2,500
Al 2,500
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SN IS ME Il o
A =glI=E=
Sl MIIZEE (e
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 48,685 10,680 38,005
= 24,343
Al 24,342
01 At 22l 36,685 10,680 26,005
OLL=sSHXNA LA
610,000& = 1H = 103l 6,100
= 3,050
Al 3,050
OZdi=ss48XNF 7Y & HE
44,750% * 4098 * 23| 3,580
1,790
1,790
OZar=ss4HXH NE2YF  200,000& * 105 2,000
= 1,000
Al 1,000
OZLAssE4dNd 8&¥ss X
600,000& * 103l 6,000
= 3,000
Al 3,000
OZA=s At 2tel & AFSEIE Al E M &
20,400& = 502 1,020
= 510
Al 510
OZLs At 2el & A& EESHE
300,000& * 5& 1,500
= 750
Al 750
OZAi=s At Zel & A& 2AUUZ
6,000,000& * 1& 6,000
= 3,000
Al 3,000
OZA=s At 2el & AIZEEI Y=
600,000 * 1CH 600
=2 300
Al 300
OAMOIHsZe-HIZELIA ASEESXNF ZALS
g 490,000& = 1H = 103l 4,900
= 2,450
Al 2,450
OMOIHH s le-HIZLIA DT 2 HME
36,0003 = 508 1,800
= 900
Al 900
OAMOIHsZe-HIZELA ASEEXNF WE2
! 50,000& * 108 500
=2 250
Al 250
O=s)H3gdE & MY 7Y € N2
20,850&  100% 2,085
= 1,043
Al 1,042
— 24 —
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D sgllsdH JisEs

==

CMIIEE=S

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
01 = LH 4 bl 2,240 0 2,240
OsdttEaALS AL (I 22,400& = 1003l 2,240
= 2,240
301 et a3z 4,480 0 4,480
2 4,480
09 AAAHIE 4 4,480 0 4,480
OosttEas 243
40,000% * 23] * 469 3,680
= 3,680
OsttEars JIEEA B
40,000 = 43| * 5 800
= 800
NEEs=sHI) =325 10,000 0 10,000
= 4,000
Al 6,000
101 @124 dl 10,000 0 10,000
= 4,000
Al 6,000
04 JI2tM 2 2 Xt 10,000 0 10,000
OXNSEs= FESERA (4N EE RS
) 10,000,000& = 1 10,000
= 4,000
Al 6,000
NEsERNT AL EL T | 400,000 150,000 250,000
Xl 200,000
Al 200,000
402 BIZHXHE 0 A 400,000 150,000 250,000
Xl 200,000
Al 200,000
01 It 2 AL B X 400,000 150,000 250,000
© XNE&=st L
00,000,000 = 20H A& 400,000
Xl 200,000
Al 200,000
=E2=2U2g 11,800 36,400 A24,600
Jl=22129 11,800 36,400 A24,600
201 ¢4l 4,800 10,400 A5,600
01 At 2t 2l 4,800 10,400 25,600
Osgaga 2
100,000& » 404 « 123 4,800
301 et d = 7,000 0 7,000
09 SALAHIEA S 7,000 0 7,000
O L SABY
,000& = 200¥ » 50 SH®S= 7,000
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N sIIsdH JisE22H
M sglIs2=2
el HeaAIMAY (sl &2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e HL S 221,934 204,290 17,644
ARSI =EZ 221,934 204,290 17,644
201 Let24d] 11,134 16,254 25,120
01 At 22/l 7,440 9,470 A 2,030
OgiEuE S2M & EE22HE
300& = 1,00001 = 33l 900
OGAPRIE Ws 2AE
220,000& = 4AI2F « 38 = 2,640
OGAPRIE =W 10,0002 * 2008 2,000
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OIRLUYESE=Z 381,000& * 6.55% 25
O=01H=z 12,553,000& * 4.50% 565
(@mE=1-4=:! 12,553,000 * 1.50% 189
OMTHEE 12,553,000 * 1.42% 179
OY&E Syl 200,000 * 1 = 23| 400
OLNF0F PEE Y &L SA o2 28,582
ool 48,2803 * 2 x 262 x 102 25,106
OY& syl 200,000 * 2% = 23| 800
OA&dEEZ 25,106,000& * 3.035% 762
OILUYEE=2 762,000& * 6.55% 50
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AN sEIIsdE AFHED
I AFME

el Heles XE (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OMEAZCA 2 M= 900,000 = 40 36,000
OELXHZA 2 ME 300,0008 » 30= 9,000
OXXU LA 29 M= 400,000€ * 50= 20,000
OYHETHNLY 2 WE
150,000 = 20= 3,000
OZIIZ28 2 ME 100,000& * 50 5,000
O2FAMOILE Hxl &€ MZ& 170,000& *» 65 1,020
ONMYFYY HYMA ona 29 2
80,0008 = 100= 8,000
OREs23dF4a 9= 100,000& * 50 5,000
301 et A= 1,120 0 1,120
09 HAIAHI B A2 1,120 0 1,120
OXXY NP0 E3 ASNEDS L 5
StE I3l 4| 7,000€ * 80H x 23] 1,120
401 AlEHI R 2 0hYI 20,000 0 20,000
01 Al H 20,000 0 20,000
ONMSFAS ML DAL
200,000&¢ = 100m 20,000
402 212t X 20| & 85,200 19,000 66,200
01 B AS 2 X 85,200 19,000 66,200
OXZHY DNR0IE EE ASAE
10,200,000 = 1JH A& 10,200
oOAME 2EAM=E ASs B2
30,000,000& * 202 60,000
O2=2E HetEZa 1323 ASAE
15,000,000 * 1JH A 15,000
405 KHoaHFE S HI 25,000 163,742 N 138,742
01 XA 2B F S| 25,000 163,742 A 138,742
Os®t 5,000,000& = 1CH 5,000
os2ssIl 10,000,000 = 104 10,000
OHHEN 3,000,000& = 1CH 3,000
o= 3,000,000€ = 1CH 3,000
OAEH 2,000,000 = 204 4,000
WA= d8I) =X 32,001 87,400 A b5,399
= 16,000
Al 16,001
101 e1214| 28,872 24,320 4,552
= 14,436
Al 14,436
04 JI2ZtHIZ22XNEES 28,872 24,320 4,552
OELHEYE L ANZHF JIZAMMZEX 22
48,280 * 29 x 262 « 10€ 25,106
= 12,553
Al 12,553
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S =

SYIl=dg AR
A ON Y

el Heles XE CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OEZZE o N3l AL 22Xk 92y
48,2803 * 18 * 262 » 32 3,766
2 1,883
Al 1,883
201 Bt 4d9 ]| 2,400 2,260 140
= 1,200
Al 1,200
01 AP 22| H| 1,500 760 740
OELHEHRA otd3t 60,0008 * 6™ 360
= 180
Al 180
OELHEQRA A= 90,000& = 6H 540
= 270
Al 270
OEYAT MHE 225 2|
30,0008 = 20= 600
= 300
Al 300
02 2224 H| 900 1,500 A 600
OEYHAN ZEHI KA 450,000€ * 2= 900
= 450
Al 450
206 M = dl 729 22,620 A21,891
2 364
Al 365
01 X2 b 729 22,620 A21,891
OEXHAN MEH| 72,856 * 10= 729
2 364
Al 365
MIl=E a3 AY 30,000 150,000 A 120,000
= 15,000
Al 15,000
206 T 24 30,000 0 30,000
= 15,000
Al 15,000
01 XHZ Hl 30,000 0 30,000
OO MEUUEZ ASHIX JI=sAE
30,000,000 * 1= 30,000
= 15,000
Al 15,000
SH2II2ag =4 821,023 2,664,652 N 1,843,629
Xl 250,000
= 12,000
Al 559,023
SMNSEESI2I|=sXH 281,023 1,944,652 N 1,663,629
101 @21 4| 28,581 13,168 15,413
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2N S SME
HE: o pope

e
1
=
ut
B

e SMEINSUTEY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsNEz8 I8l =8 NINEI D 7g
150,000& * 178 2,550
SENME 25 Mz B2 40,000 20,000 20,000
< 12,000
Al 28,000
402 2I2H X201 M 20,000 0 20,000
< 6,000
Al 14,000
01 B2t AL E X 20,000 0 20,000
OHNSERSESEY AY
20,000,000& * 1JH A 20,000
< 6,000
Al 14,000
405 KtabH S| 20,000 0 20,000
< 6,000
Al 14,000
01 HatH ESFH S 20,000 0 20,000
OXNE=s4ItE e 843 N2 20,000
OdX& =2 16,010,000& * 1CH 16,010
< 4,803
Al 11,207
Ouss Mgl 400,000& = 7CH 2,800
< 840
Al 1,960
OdIItA g el X 70,000& = 70H 490
< 147
Al 343
OE2&dM 350,000& =« 2CH 700
< 210
Al 490
SAE JIZ HME Jle23 500,000 500,000 0
Xl 250,000
Al 250,000
201 L2l 44,320 12,300 32,020
X 22,160
Al 22,160
01 At 22l 44,320 12,300 32,020
OsMSEEIIBHM Asg M=
7,000& = 1,000 7,000
Xl 3,500
Al 3,500
Osd=&gosd 238 Mg
7,000& = 60 420
Xl 210
Al 210
OsttEsgitsd 2 2L
23,000& = 1004 2,300
Xl 1,150
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FA: sgIIsdH HFNY D
M ol pofy
Sl SASINBAYSY (et
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 1,150
OsASIHBLEY 29 AJ7Y
100,000& * 208 * 63l 12,000
Xl 6,000
Al 6,000
oztE4d8 & M= 20,000,000& * 13 20,000
Xl 10,000
Al 10,000
OEZ M= 100,000& * 268 2,600
Xl 1,300
Al 1,300
202 O4dl 1,500 2,500 21,000
Xl 750
Al 750
01 =LHA YI 1,500 2,500 A 1,000
O=4tE 6 Mgsd XX BXI0H2
60,0003 = 5% » 5« 1,500
Xl 750
Al 750
405 XHoHF S HI 454,180 462,300 28,120
Xl 227,090
Al 227,090
01 XL 2 ZFH S| 454,180 462,300 A8,120
ou==+ 88| 24,200,000& * 1CH 24,200
Xl 12,100
Al 12,100
ot =87l 1,650,000& = 1CH 1,650
Xl 825
Al 825
OH22ZHIN 1,700,000& * 1CH 1,700
X 850
Al 850
oIt M| 24,200,000& = 1CH 24,200
Xl 12,100
Al 12,100
QuUAE =& 12,100,000& * 1K 12,100
Xl 6,050
Al 6,050
ozudol 8,800,000& = 1CH 8,800
Xl 4,400
Al 4,400
O=azd2D| 3,300,000& =« 3CH 9,900
X 4,950
Al 4,950
Octe R 7| 13,200,000& * 1CH 13,200
Xl 6,600
Al 6,600
OMsA=TI 16,000,000& * 1CH 16,000
X 8,000
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X ZH -
L= B

el

S HE HAM
A ON Y
SHENSUYEFH

(i}

gk
=

ot

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 8,000
OgESAH=DI 9,500,000& 10 9,500
Xl 4,750
Al 4,750
(©F=3=1] 6,000,000& 104 6,000
Xl 3,000
Al 3,000
O M &2l 45,000,000& 1 45,000
Xl 22,500
Al 22,500
(©k=g=Ip] 9,500,000 104 9,500
Xl 4,750
Al 4,750
OZEI| 12,000,000& 10 12,000
Xl 6,000
Al 6,000
OAgEEYH EX 18,700,000& 104 18,700
Xl 9,350
Al 9,350
odYsI|l &X 36,000,000& 10H 36,000
X 18,000
Al 18,000
odH2ZdM EXI 7,700,000 104 7,700
Xl 3,850
Al 3,850
ORM Sy & 16,000, 000& 14l 16,000
Xl 8,000
Al 8,000
(©F=Fs]}:| =y 25,000,000 14 25,000
Xl 12,500
Al 12,500
(©OFSPIRE =" 8,500,000& * 2CH 17,000
Xl 8,500
Al 8,500
oxgdlols 400,000& * 64 2,400
Xl 1,200
Al 1,200
O=2 M &I 2,145,000 10H 2,145
Xl 1,073
Al 1,072
OO0tat & J| 4,500,000 104 4,500
Xl 2,250
Al 2,250
OM2MELD 6,930,000 10H 6,930
N 3,465
Al 3,465
Odsn(M2) 6,300,000 104 6,300
Xl 3,150
Al 3,150
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el

X ZH
S =

SYIl=dg AR

SHENSUYEFH

(i}

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ONAHAHE 100,000 * 3CH 300
Xl 150
Al 150
O U ARSI DI 20,000,000& =« 1CH 20,000
Xl 10,000
Al 10,000
O M &I 500,000& =« 1CH 500
Xl 250
Al 250
OfIME daAs)| 1,500,000& = 2CH 3,000
Xl 1,500
Al 1,500
OHEALAEF &7 AS)D| 500,000& =« 1CH 500
Xl 250
Al 250
OZ =0t &z 500,000& = 1CH 500
Xl 250
Al 250
OE3AE DI 300,000& = 1CH 300
Xl 150
Al 150
O&3tAXT| 200,000& = 1CH 200
Xl 100
Al 100
O X0 &0 500,000& =« 1CH 500
Xl 250
Al 250
OZ=MZE 300,000& = 2CH 600
Xl 300
Al 300
COEEN= 100,000& * 6CH 600
Xl 300
Al 300
CLNREL 43A=T| 300,000& = 1CH 300
Xl 150
Al 150
OJt3HI0l= 500,000& =« 7CH 3,500
Xl 1,750
Al 1,750
oL 7,000,000& = 1CH 7,000
Xl 3,500
Al 3,500
@)= 1,500,000& * 1CH 1,500
X 750
Al 750
OJtAE X 300,000& = 7CH 2,100
Xl 1,050
Al 1,050
OWEZ 2AMII 2,000,000& =« 7CH 14,000
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el

el

X ZH
S =

SYIl=dg AR

SHENSUYEFH

(i}

A - ER(EN) - AR - B of & o4 SSa HIDZ2
Al 7,000
Al 7,000
© 31 1| Oil Ol A 20,000,000& * 1CH 20,000
Xl 10,000
Al 10,000
O A Il 120,000& = 7CH 840
Xl 420
Al 420
OFSPAY= ReIPN 300,000& * 2CH 600
Xl 300
Al 300
OJsd sk 70,0003 4004 2,800
Xl 1,400
Al 1,400
(CFSPADSE== 500,000& * 1CH 500
Xl 250
Al 250
o2 A 60,000&  10CH 600
Xl 300
Al 300
OHdlIEsH 50,000& » 204 100
Xl 50
Al 50
OUXNE &= 2,000,000& = 1CH 2,000
Xl 1,000
Al 1,000
©3toll et 500,000& * 1CH 500
Xl 250
Al 250
og=7] 3,500,000 = 1CH 3,500
Xl 1,750
Al 1,750
ongE=I| 4,500,000 = 1CH 4,500
Xl 2,250
Al 2,250
o2 500,000& = 3% 1,500
Xl 750
Al 750
ods1 1,415,000 = 1CH 1,415
Xl 707
Al 708
od=Jl 1,500,000& = 304 4,500
Xl 2,250
Al 2,250
O824 HOolI= 700,000& * 6K 4,200
Xl 2,100
Al 2,100
O=E4 AKX 1,000,000& * 694 6,000
Xl 3,000
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D sgEllsdE AFME

DEFOHE
D sdEIsaEsd

(i}

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 3,000
OAMS A o Xt 300,000& = 504 1,500
Xl 750
Al 750
OAS A A 500,000& = 30K 1,500
Xl 750
Al 750
QoA d el X 300,000& =« 7CH 2,100
Xl 1,050
Al 1,050
OM=TH 300,000& =« 7K 2,100
Xl 1,050
Al 1,050
OALR A HYIY 800,000& = 204 1,600
Xl 800
Al 800
HHR2IZH (s Il=dH o) 43,812 ,228 2,584
Jl23 4l 43,812 ,228 2,584
Jl23l 43,812 ,228 2,584
201 LB-2dH| 13,052 ,664 AB12
01 At 2t 2l 13,052 ,664 AB12
oJlegesd ]l 6,500,000 6,500
O= &l 6,552,000 6,552
202 O4dl 27,240 ,640 6,600
01 = LHO YI 3,240 ,640 25,400
OJlegR=a8 3,240,000 3,240
02 X 24,000 ,000 12,000
OE Mo 200,000& = 10¥ ~ 123 24,000
203 @R =&l 3,520 ,520 0
02 AP R=A 520 520 0
OFAINMIT R = 40,0003 = 13H 520
04 FN2EHRFT 3,000 ,000 0
ORN2IELESF 250,000& = 12& 3,000
MEPES(=gl)lsdE o2 ) 176,262 0 176,262
HEAHHK = 176,262 0 176,262
AN ELEH e (FSBEFFHMY) 176,262 0 176,262
701 JIEtSI HETES 176,262 0 176,262
01 JIEtSIHE &S 176,262 0 176,262
O+EMHSHE N HNES(ASAFBYY)
176,262,000& 176,262
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Al Of &8 AH & B Al A
20169 = =0la Lets|H seI)I=dlH NI ~ sl SAsS2
AN sIIsdH SAsES
Hu: CASUSY
Sl SASASH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sHJIsdlH SAsSR 2,007,916 2,642,454 A 634,538
= 141,500
Xl 100,000
< 16,500
Al 1,749,916
SANsgsd 1,966,744 2,607,270 A 640,526
= 141,500
Xl 100,000
< 16,500
Al 1,708,744
CAN=sEsH 1,966,744 2,607,270 A 640,526
= 141,500
Xl 100,000
< 16,500
Al 1,708,744
NEsEXNT AL LS (Z Al 200,000 0 200,000
Xl 100,000
Al 100,000
401 AIEHI L 2 CHYI 200,000 0 200,000
Xl 100,000
Al 100,000
01 A& Bl 195,200 0 195,200
OsEXNZIEE (ML) 195,200
OFAL SAtHI (2122 ) 187,136,000& 187,136
Xl 93,568
Al 93,568
O& A& AHI 8,064,000 8,064
Xl 4,032
Al 4,032
02 Zeltl 3,360 0 3,360
oZealtl 3,360,000& 3,360
Xl 1,680
Al 1,680
03 A& =2 THHI 1,440 0 1,440
OAIE S THHI 1,440,000 1,440
Xl 720
Al 720
A2 AY 100,000 200,000 A 100,000
= 50,000
Al 50,000
201 ¢4l 27,250 7,200 20,050
= 13,625
Al 13,625
01 At 2t 2l 16,250 7,200 9,050
OEANsY =2AS XEE JI==23 16,250
ODtAHIEY 84 2ASL (22 4412}
20,000& * 253 10,500




AN seIIsHE
M CA=sgs4d

H
>
0
©
b=

Sl SASASH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 5,250
Al 5,250
ODtAHIEY |4 1s 29|
30,000& =« 253 750
= 375
Al 375
OOtAHIIEH S8 WS g2
500,000& = 63l 3,000
= 1,500
Al 1,500
OOtAHIMEH S M M & 2¢
20,000 » 508 = 28 2,000
= 1,000
Al 1,000
03 & Ar2 I 11,000 0 11,000
OZAN=sd =2HSE XEE JI=sEs 11,000
ONtAHIMEY S84 42103
5,000,000& = 13l 5,000
= 2,500
Al 2,500
O0tAHIMNEH 84 R34
3,000,000& = 23l 6,000
= 3,000
Al 3,000
206 = Hl 7,500 4,800 2,700
= 3,750
Al 3,750
01 =8l 7,500 4,800 2,700
OZAN=sY =2HE ¥5E J==2s 7,500
OOtAHIEH S4 HME M4
10,000& = 30€ = 253 7,500
= 3,750
Al 3,750
301 et d=s 5,250 5,600 A 350
= 2,625
Al 2,625
09 HALAHIEA S 5,250 5,600 A 350
OZAN=sd =2HE XEE J=Es 5,250
O0tAHIEH sS4 4K sA2d
7,0002 * 30¥ * 253 5,250
= 2,625
Al 2,625
307 21201 A 10,000 2,400 7,600
= 5,000
Al 5,000
02 QB AAFEX 10,000 2,400 7,600
OZAN=g =2HE AEE JIsES 10,000
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CAsgEsd
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SN EE - (SN) - HRAY - BHAS il Hl D = 2t
OOtAHIIEH sS4 HEH AE23
10,000,000& = 1JH A 10,000
= 5,000
Al 5,000
402 QI2H X201 M 50,000 180,000 A 130,000
2 25,000
Al 25,000
01 212+t S 50,000 180,000 A 130,000
R HAHE 2201 MY
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